

PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 4/28/2025 5:06:20 AM

			General D	etails					
Parcel ID:	450-0010-	02690							
Document:	Torrens - 8	62008.0							
Document Date	e: 11/26/2008	3							
		Le	gal Descripti	on Details					
Plat Name:	MIDWAY								
Sec	ction	Township	hip Range Lot				Block		
1	18	49		15		-		-	
Description:	NE 1/4 OF	NE 1/4 EX 2 AC I	FOR ROAD						
			Taxpayer D)etails					
Taxpayer Name	e SODER M	ARK D							
and Address:	3085 MID	VAY RD							
	DULUTH N	/IN 55810							
			Owner De	tails					
Owner Name	SODER M	ARK D							
		Pay	able 2025 Ta	x Summary					
	2025 -	Net Tax				\$397.00			
	2025 -	Special Assessme	I Assessments \$29.00						
	2025	- Total Tax &	al Tax & Special Assessments \$426.00						
		Curren	t Tax Due (a	s of 4/27/202	25)				
	Due May 15		Due Nover		,		Total Due		
2025 - 1st Ha	-	2025 - 2	2025 - 2nd Half Tax \$213.00 2025 - 1st Half Tax Due				\$0.00		
2025 - 1st Ha	· · · · · ·		2025 - 2nd Half Tax Paid \$213.00 2025 - 2nd Half Tax Due				\$0.00		
							φ0.00		
2025 - 1st Ha	alf Due \$0	0.00 2025 - 2	2025 - 2nd Half Due \$0.00 2025 - Total Due \$0.00						
			Parcel De	tails					
Property Addre		VAY RD, DULUTH	MN						
School District	-								
	District: -								
		IARK D	nt Dotoilo (2)	025 Doveble	20261				
	esteader: SODER, M	Accessme		uzo Payable	-	land	Def Bldg	Net Tax	
Property/Home		Assessme	•	-	Def		Def Bldg		
	esteader: SODER, M Homestead Status	Assessme Land EMV	Bldg EMV	Total EMV	Det E	EMV	EMV	Capacity	
Property/Home	Homestead Status 1 - Owner Homestead	Land	Bldg	Total	E	5,500	EMV \$0	-	
(Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	E \$8	MV		- -	



PROPERTY DETAILS REPORT





Land Details										
Deeded Acres: 38.00										
	erfront:	-								
	er Front Feet:	0.00								
	er Code & Desc:	D - DUG WELL								
		-								
	Gas Code & Desc: - Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM									
	Lot Width: 0.00									
		0.00								
	Lot Depth: 0.00 The dimensions shown are not guaranteed to be survey guality. Additional lot information can be found at									
https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.										
Improvement 1 Details (HOUSE)										
- II	mprovement Type	Year Built	Main Flo	oor Ft ²	Bross Area Ft ²	Basement Finish	Style Code & Desc.			
	HOUSE	1890	1,14	42	1,554	U Quality / 0 Ft ²	1S+ - 1+ STORY			
ĺ	Segment	Story	Width	Length	Area	Founda	tion			
	BAS	1.2	14	14	196	SHALLOW FO	JNDATION			
	BAS	1.2	17	26	442	BASEM	ENT			
	BAS	1.5	18	28	504	BASEM	ENT			
	CN	1	5	5	25	FLOATING	SLAB			
	CN	1	5	8	40	FLOATING	SLAB			
	OP	1	5	6	30	FLOATING	SLAB			
	OP	1	5	13	65	FLOATING	SLAB			
	Bath Count	Bedroom Cou	nt	Room Co	unt	Fireplace Count	HVAC			
	0.75 BATH	3 BEDROOM	S	-		0	CENTRAL, PROPANE			
		li	mproveme	ent 2 Detail	s (BARN30X	120)				
- 1	mprovement Type	Year Built	Main Flo		Sross Area Ft ²	Basement Finish	Style Code & Desc.			
	BARN	0	3,60	3,600 -			- -			
[Segment			Vidth Length Area		Foundation				
	BAS	1	30	120	3,600	POST ON G	ROUND			
	LT	1	4	7	28	CANTILE	VER			
	LT	1	6	6	36	POST ON G	ROUND			
	LT	1	11	30	330	POST ON G	ROUND			
	LT	1	18	22	396	POST ON G	ROUND			
	Improvement 3 Details (OLD HOUSE)									
- 1	mprovement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING 0 468 468 -										
[Segment	Story	Width	Length	Area	Founda	tion			
	BAS	1	18	26	468	FOUNDA	TION			
	CWX 0		6	19	114	POST ON G				
	Improvement 4 Details (SHOP 23X36)									
	Improvement 4 Details (SHOF 25X50) Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Desc.									
	TORAGE BUILDING	0	82		828	-				
	Segment	Story	Width	Length	Area	Founda	tion			
	BAS	1	23	36	828	POST ON G				
1 l	5,0	•	20	00	020	1001010				





St. Louis County, Minnesota

			Improveme	ent 5 Deta	ails (MILK HOUSE	E)				
	Improvement Type Year Built		Main Floor Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
S	STORAGE BUILDING 0		168		168	-	-			
	Segment	Story	Width Length		Area	Foundat	ion			
BAS		1	12 14		168	FLOATING	SLAB			
	Improvement 6 Details (SHOP/MACH.)									
	Improvement Type	Year Built	Main Floor Ft ² Gross Area Ft ²			Basement Finish	Style Code & Desc.			
s	TORAGE BUILDING	0	2,184		2,184	-	-			
	Segment	Story	Width Leng		Area	Foundat	ion			
	BAS 1		28 28		784	POST ON GF	ROUND			
	BAS	1	28 50 1,400		1,400	POST ON GROUND				
	Improvement 7 Details (GRAINERY)									
	Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
s	TORAGE BUILDING	0	385		649	-	-			
	Segment	Story	Width	Length	Area	Foundat	ion			
	BAS	1	3	11	33	POST ON GF	ROUND			
	BAS	1.7	16 22		352	POST ON GF	ROUND			
			Improv	vement 8	Details (SILO)					
	Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
		0	180 180		-	-				
	SegmentStoBAS0		Width	Length	Area	Foundat	ion			
			0 0 180		-					
			Improver	nent 9 De	etails (ST 15X20)					
	Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
s	TORAGE BUILDING	0	30	0	300	-	-			
	Segment	Story	Width	Length	Area	Foundat	ion			
	BAS 1		15 20 300		POST ON GROUND					
	Improvement 10 Details (9x12 shed)									
	Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Desc.									
s	TORAGE BUILDING	0	10	8	108	-	-			
	Segment	Story	Width	Length	Area	Foundat	ion			
BAS 1		9 12		108	POST ON GF	ROUND				
	Sales Reported to the St. Louis County Auditor									
	Sale Date		•		-		Number			
	11/2008		Purchase Price \$29,800 (This is part of a multi parcel sale.)			184477				
	07/1996		\$33,300 (This is part of a multi parcel sale.)			110478				
	07/1990		φ35,500 (1	nis is part u	a multi parcer sale.)	I				



St. Louis County, Minnesota



Date of Report: 4/28/2025 5:06:20 AM

		A	ssessment Histo	ory			
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Land B	Def Idg Net Tax MV Capacity	
	101	\$169,400	\$48,200	\$217,600	\$75,600	\$0 -	
2024 Payable 2025	121	\$22,500	\$0	\$22,500	\$0	\$0 -	
	Total	\$191,900	\$48,200	\$240,100	\$75,600	\$0 792.00	
	101	\$159,900	\$43,700	\$203,600	\$69,100	\$0 -	
2023 Payable 2024	121	\$21,000	\$0	\$21,000	\$0 :	\$0 -	
	Total	\$180,900	\$43,700	\$224,600	\$69,100	\$0 725.00	
	101	\$149,700	\$40,600	\$190,300	\$62,500	\$0 -	
2022 Payable 2023	121	\$19,400	\$0	\$19,400	\$0 :	\$0 -	
	Total	\$169,100	\$40,600	\$209,700	\$62,500	\$0 667.00	
	101	\$142,700	\$36,800	\$179,500	\$62,200	\$0 -	
2021 Payable 2022	121	\$18,300	\$0	\$18,300	\$0 :	\$0 -	
	Total	\$161,000	\$36,800	\$197,800	\$62,200	\$0 639.00	
			Tax Detail Histor	У			
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV	
2024	\$403.00	\$25.00	\$428.00	\$77,180	\$34,060	\$111,240	
2023	\$405.00	\$25.00	\$430.00	\$69,180	\$31,640	\$100,820	
2022	\$435.00	\$25.00	\$460.00	\$67,900	\$28,680	\$96,580	

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.